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Revisions are shown in red.
Question 64, p. 42:

Match each value to its corresponding minimum horizontal clear-zone width (ft) for the roadway
characteristics shown. Some values will be used more than once.

DESIGN
SPEED (mph) ADT SLOPE WIDTH
30 400 1V:4H foreslope
24
70 13,000 1V:3H backslope
22
50 4,000 1V:8H foreslope 16
10
60 1,200 1V:4.5H backslope
7
45 7,000 1V:4H foreslope
35 1,000 1V:6H foreslope

Solution 64, p. 83:

DESIGN
SPEED (mph) ADT SLOPE WIDTH
30 400 1V:4H foreslope 7
70 13,000 1V:3H backslope 22
50 4,000 1V:8H foreslope 16
60 1,200 1V:4.5H backslope 16
45 7,000 1V:4H foreslope 24

35 1,000 1V:6H foreslope 10



